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Answers to this paper must be written on the paper provided separately.
You will not be allowed to write during the first 10 minutes.

This time is to be spent in reading the question paper.

The time given at the head of this paper is the time allowed for writing the answers.

This paper comprises of two sections: Section A and Section B.
Attempt all the questions from Section A.
Attempt three questions from Section B.

The intended marks for questions or parts of questions are given in brackets [ ]

Section — A [30 Marks]

Attempt all questions

SlemeoTs Gl 60T TE & @EH& (LD aflemLwerfl& &l
Question 1

Write a short composition in tamil of approximately 175 words on any one of the following

topics. [10]

LS etTeu(HLD HemeuLIL|&6rfl6L FCHILD eiTeME GM &S 175 UTTS 0S5 @55 S
&M &L(hemT 6iTemMm 6T(D SI15.

) "SevelluiledT PMLIL|" 6TeoTeID HemeLLILINE L (H6MT R60TenM 6T(LDSI5.
i) "LDEOID SHEOT GUTEVITMI S MIGH6V" 6TEOTERIND FHeMmevLIendh GMGH S &L (hen

660TEMMN 6T(LNSISH. (LTSN 2_(HEUMEGLD (LN6eMM, LILIGOTLITHIS6MT, (LDLY6) 60T
6T6OTLIGOT GLIMTEdTM &H&H6U6VE6T @)L LD QUMM HE S Ceuevor(hLD)
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i)y "UMr&sTES LW CHL&MS &L sIlD LIMTLD" 6TedTenlld LIPQTLSlemul 60LDWILDTEHES
Q& meooT(h H6MG 6R60TENM 6T(LNSHISH.

iv) ECLp Q&MO&SLILLBH6TT LLSTemerr 2. MM CHTEHESR BH6L 2 108G
CHMETMID H(HSHSIHSHEN6T 6T S5,

Question 2
Write a letter in Tamil in approximately 75 words on any one of the topics given below. [5]

SCp Q&EMTHE&ESLILIL (B ETET &emeuLIL|SerfleL spetTemma: GM& S 75 6UTTE NS 5655 S
OSGITD6L &19.5LD 60T6eNM 6T(LD 518.

) CHIaleL (PFH6L DTG LIEDIT GILIMHMI LOMHIeVEH CevCU (LNSEVITEUSTS QlUHSH 60T
TH600T LI6DY6OT LI LITTITL19.8 SHL9.&HLD 6260TMI 6T(LDSISH

i) 2_ e 26rflev Q& [HENETEH G UFD Gauetorly 2eTTTLF LDETMS FHeMEVeU(IH& &8 51950
TSI,

Question 3
Read the passage given below and answer in Tamil the questions that follow, using your own words
as for as possible.

Q&EMHGHLILILL 2 enJHenL Ll LGS enWwL LIS SI600TH S 60T LD 6uIbLD BHSI
6Nl EUTITE: & @5 & G LD 26T QFMHS HeoLUl6L ellevL 6T 515.

RBBTET 6T QSIEFT FMemneVUledT @ILOME BLBEH QFATMTH. LUICLTS
auflufev eBTL LY el FTaneuule U UGSHGHSTY. e[ WN&HESNSS Si600TUWIM6
e QGBHSTT. @ 6M&HWTL LLeM6TH LI M6e00HSIEH 6&Teor(h QBHSTI.
SjTeneT QI Saufledr BB QFTM 2 Mmm CHTEHRETTH. QHTRGHTUI6T
Q&MHIEMWITEY 2 eoorLTeoT Gaugemenr eNSTLIQUlledT (WHESFH QFFHEHSE. moserleu
ANTLEHET @)6VEMEV. ETEMET GIGTEFT LNETLD HEVHBIGETTH. eNSTL QU 6T HHF6L Q& 6Tm!
TS QSTL(HS STEHRTTH. 'FTene @ISH 6 LB SHSH @ BLILS g6ir? eTeord G&HL_LITI.
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'GTEOTENENTS QBMTLTHIGH6T. 6T60T GHITUI 2 MIGHEHHGD QHTHMIE GC&MTETEHLI. 6T60T
2 melleT I GCeT 6TeoTemn 60T GleuMig g elevE: el L 60T, 6T60TenIL 60T GLIG 615 6L60I6V. 6TEOTED)60TES
&HeooTL TGV e(MHeoTmeoTy. @BHSLI LLeneor L (HGLD 6TeOTEIL 60T @HEHMSI' 6T60T (WDSTY
ENSITL LY.

@QFmeTs: CoHLL  eTemeT QBIEFM  SHevoreoory LT, @euemnyll GUmev
AWITESeoTH&Ter GHITWmeflser 2 sl QaFuwiw wrplllearm aumhelengd &e0oTL Tl
IHEHEMTVST QSMTWEHITU H{HEMWITET QFHTHM CHITWTEHES &HHSLILILL G &(IH6D600T
9 GTETID Q&ITEOOTL. I|6T6M60T QHTFT AUTHEHHGSH Q&HTeoT(h QFUIW WICIHSSHTI.
S0 @MISE smeuld euem LNIMIHEH&HTEHEGC aUMDHSTH.

IN&HEHEHHGE QFUIWWD UeIGW @emmelssHE&Gs QFWIU|WD  Lieoll  eTerm
QUMTLDIHS . DIG60TITEV IJeMNFH &S Meor GHITLIE Lfla jauenis CHlq albHSl.

6¥l 60T T&: G 61T:
) 6OTe060T QHTEFIT 6TMHIG QEFGTMTI? 6TeNGH LI LUMTSHSHT? [2]

i) 3|6eTem6T QBTFT QSHTWECHTUWIET &Hemneml eNGTLIQUILLD eTliLILg Q& FlHE

Q& ITEOOTLITIJ? [2]

i) &eT 2 MeleTIEHeM6Ts: GMISHS CLNGITL L] o M ULIS! 6T60T60T? [2]

V) ST LITTSHS 60160607 QGTFT 6T(HHS (LDLY.6)| 6T6OT60T? [2]

V) O60TEM60T QIGIEFIT )60 MeUsEEGEF Q& UIWLD LI6oolIWITS 6T60)S 6T600T600T60TIT? 6U6mIS

CaY albsHS e15I? 2]
Question 4

Answer the following according to the instructions given.

L ULN6L QETHSGESLILLL allenL&emens CHTIHASHH SIS CHMGLL G\L NS
BIFULs.

) UGUSSS 6 2 mILiL|&erler eTevorenoll&ensd _ (8BH&I / b)) [1]
i) QEFMeLEN 6T (LNFES6L BledTm QILIMIHET SHIHeUS! (Friflenwl / UGS) [1]
i) eTL_Lmh GeummIenlnd & @6vemev. (LGS / 2_(HL]) [1]
iv) bsMD CauhmienulleT 2L (SISl / Gev) [1

V) 6@ Q&ML 3606 Sl 6T(LDES SIS EHLD DT 60T TeYILD GLIMIH6T

OTMILILITIO6 @ @BLILS (@oSHLICLIMES / wpmHmi1GLImed)) [1]
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Section — B [30 Marks]
Attempt any three questions for this session
LN etreumeuemaumniley e CHeild eLnedTml 66T e &HEH &G 0L (HILD 6Nl 6T SI5
Question 5
BL0EG (LNEOTETTEL ST HEBHES @eTeUTEFF&H6T @ elen b mml rml LUMjss
L|6VGTT. [BITEOT 2_MBIGH 6T &1560)& U 60T QB ([H IS U [H600TLI6OT 6T60TLISI 2_ B8 655G

BETMMTSHS G&IfluLD.

68 GOTITE: S 6iT:
) GEFMPT GVHSIHEG JMHLGILD S|eULDTETLD 6TSHIQ6U6TMI LIV JaMISTMmIT? [2]
i) CeueVLILIEMEIT I6MLNG S GUIT 6TedTMI Fo MU QB (H I 6iTert 18 &
R S5H LG G6veiTEoT? [2]
i) 6T8l LeM&UTEHEH5HEG DRFEFR MU QHTHEGD 6TeT QUGB WTT Sanleorm? [3]
iv) eUFS (P96 6TSI 6T6T @ 6eMaUTEFF&H6TILLD QUITSHWTT FGamleormy? [3]
Question 6

GUMEMIS QSHMTLMHIG [HoTL STV WHTH CalemeusmHeT allenralmds Bl QUMM
QUHHEOTMET. @)6OTIND BHSH VLS M BTLGL eTery CUTeMTH QS TLHBIG
N B\6UTT 6TeTMI [B]6m60TE: G GM 60T 6T60TMTEdT G616V LI LIEDT.

69 60T ITE & 61T:

) epeull LIL&emens SallT @ ereugsrsefler LemLuiley CFIHSHeUTEHeMeTH Famidh.  [2]
i) BTHECeUEVT 6TLIGLIMSI aUHEUTT 6TeoTd CHLLSME SHSHeUTTT Samlul LI 6

6T60T6OT ? [2]
i) @6TeUIFI&H6T @ HeU(HLD HLDLIGSID CFIHS LIenL el TIsEhsHsE 26e1581D 261 (HLD
alen&H U6V GG WIS 6TedTEOT? [3]

V) @) 6TOUTFT&HET 6J60T | [J600TLN6M60TEHE G1F6V6V G6U6D0TLITLD 6T60T [ SI6U6DTITIT
Fo M 6OTTT? [3]
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Question 7

FmI6TemneTs ST HLHS QHTETLIITHM6T Gauml 6TLILIG FLESSIUSI? HTen6T
@bs BTLmML emll CUTHM 2 MGl 9snG&Hlu UsGaGT WHFFAGWIT
@6vemey. HhRIGET @@BeUL eTRILILIMTT en&LiLleTenersmerT® afeoormd el(hefisGerT
6TEOTM)I 6TEUTE (G5 SHEUEMEVLITEHR @) (HEH M.

68 6UTITE; &5 61T:
) GOIDLLS 5606V6UIf160T LD6TE: G560 6T60T60T? [2]
i) LeML&HH6VE QISITLLY6V 6T60TMIT6V 6T60T6OT? [2]

i) G&FML LOGITEOT 6J60T LOMMIGEIL &6V @) 61T hIG600T600T60T &1L M (&H&F
QFVSTEH QBB MG 6Te FomeormeoT? [3]
iv) QL& QuITmilien Il LUmn)l GEFTLD LD6TET @) 6melFFIsserflLn

FoMIWLENG 6TLDSI5 (3]

Question 8

QLI0MD 9TGF, @& CeUdHemenT SH(HLD BHLLFF ST, @) 66T S5MTEVLD 2_MBIGH6T HlPedGev
QIMLDIF S QUHS 6TTRIGHEHEE @ LICLIMS HeL QLIMID Bl&LDEF ST QUL SI6TLSNSS
5 (1H ) 60T M 60T.

6Nl GUTITE: S 6iT:

) 2.muis CaMLemL U6y eTalalemE LI LIGML &6 GLITIHEHSHTE 6001 6lGSH S BlMISSHL]

LD @BHSHeor? 2]
i) CGUMTIHSE SWITIITUI Bl6dTM Q& Te0oTL.(HHS LOEITETeN T LI L|6VeUTE6T 6186 M &M

FHH &5

UBSHHTEH Fon M 6GOTITTE6IT? [2]
iii) BTHGEUEVIHLD I HSICUGTTIHLD Fo L TTHH 60T QeuerflGUl S6voTL SHITL_G) 6T60T60T? [3]

iv) GUMflev BemL &G LD Qaumml G mevall GMIHS Lisveummmmy eTullmmluleor iy
LnedTeoT If1L_LD

6T60TE0T For M GOTITII? (3]



